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@ Which is the commercial crpp of Haryana 7
-/ (A) fotato (B) sunflower
4 (D) cotton

\/w sugarcane

2. The Golden City in Haryana was
y Sonipat
(D) Rewarn

9/ Panipat
(C) Ambala

3. Select the correct statement about the circle
of stars in the flag of Council of Europe.

i, Solidarity and Harmony between nations.
ii. 12 resembles symbol of perfection.
(A) Only i1 1s correct

(B) Only iis correct

, (@/ i and i1 are not correct
(DY Both i1 and ii are corr
4. Ninety Five theses King

incl_ydcd

| jA) Bringing back the democratic
government in the nation

(B) Criticising many of the practices and

rituals of Roman Catholic Church

(C) Controlling the publishers of books
from Herctical

Criticising the administrative faults of
Monarch

(D)

5. The net angular momentum is conserved if
y

(B)

Sum of wtal linear momentum acting
on the objeck I82¢10 = = -

object is zero
(C) Sum of external forces acting on the
object is zero

(D) None of the above
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6. If MADRAS is coded as 56, how is
CALCUTTA coded ?

(A) 80

AB) 81
(C) 83
(D) 82

7. The Rowlatt Act was passed in the year
(A 21" March 1919
(B) 21*March 1918
(C) 21*March 1917
(D) 21*March 1916

8. Which was the earliest language used by
the Mesopotamians ?

(A) Brahmi
(B) Latin
(C) Sumerian
JDP) Greek

9. If ROAST is coded as PQYUR in acertain
language, then how will SLOPPY be coded
in that language ?
(A) RANNMQ
(C) NRMNQA

(B) QNMRNA
(D) MRNAQN

10. Flood Plains made by Markanda river is

called
_JA) Bet (B) Nelli
(C) Alluvial (D) Shvaki

11. How many Sustainable Development Goals

(SDGs) are included in the 2030 agenda
for sustainable development of the United
ations ?
) 21 goals
(B) 10 goals
() 17 goals
D) None of the above

10.

18

5/2019 (1) (E2)

af MADRAS I %2 56 3 @ CALCUTTA
&1 %2 FE

(A) 80

(B) 81

(C) 83

(D) 82

e s fo e o e < ¢
(A) 219 1919
(B) 21 9= 1918
(C) 217 1917
(D) 219 1916

Aera i % g S S SR
9T o1

(A) wT&Ef

(B) #feA

(C) gHiEA
(D) T

af ROAST 7 %2 PQYUR &, aI 31 5w
% SLOPPY &l 2 &1 BT 7

(A) RANNMQ (B) QNMRNA

(C) NRMNQA (D) MRNAQN

Arhe T S e e F feE @) e
EInIE

(A) 2 (B) ~&ft
(C) Tegfeas (D) vareht
J N

(A) 219"

(B) 10983

(C) 17489

(D) 350 FE T2
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12. The river Yamuna flows on which region
of the boundary ?

(A)~Southern
) Eastern

13. Summer season in Haryana is from
(]/X)‘Apri] to June
(B) July to September

) January to March

\\/Df March to May

14. The Headquarters of United Nation High
Commissioner for Refugees (UNHCR)
located at
(A) Pans

Geneva
(C) Washington DC
(D) None of the above

(B) Northern
(D) Western

15. Akbar is the son of

(A) Babar (B) Shahjahan

(C) Jayavardana Humayun

16. The period in which Rs. 5,500 will amount
to Rs. 6,050 at 4% p.a. simple interest is

(A) 4 years ‘gB’)/ 2.5 years
(C) 3.5 years (D) 3 years

The average of the marks of 8 students is 30,
that of the first two is 22%2 and of the next
three is 24, the marks of the sixth student
is 3 less than the seventh and less by 9 than
the eighth student. What was the marks
obtained by the eighth student ?

(A) 42 (B) 48

(C) 44 (D) 46

J8 The decomposition of NH, on gold and

0

molybdenum surface is an example for
s reaction.

(A) hifd order (B) Sccond order
(&1 First order (D) Zero order

12.

13.

14.

15.

16.

17,

18.

e
LA

ML

a3 s 7
A) & () Ei :
((C) bl &
gﬁqmﬁwﬁwﬁwa:aéiﬁm%?
(A) aﬁaﬁq\q.

(B) e & faash

(©) ST B A

(D) WrE 8 7S

wﬁ%@ﬁﬁw?mw
|

(D) a3 @

197 o7 |
(B) STESEl
(D) g™
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form srafyr o %, 5,500, 4% WA TS 4TS
WE, 6,050 B AL ?
(A) 49

(C) 359

8 forenfefai o a1t =1 offerd 30 R, ve S &
3T 221 3R 30Tt off7 %7 24 B, 2 fammeff
% 7% WA ¥ 3 N 2 oK § F fyeneff @
0 @y B 3T foreneff ST YT 37e war 9 ?

(B) 259
(D) 341

(A) 42 (B) 48

(C) 44 (D) 46
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19.  Which one of the following animals given

20.

21.

22,

23.
=

24.

25.

below is a National Animal of India ?
A) Bengal Tiger

(B) Asian Elephant

(C) Asiatic Lion

(D) None of the above

Hieun Tsang visited India during the
Administration of

(A) Indira Gandhi
(B) Vajapeyi

‘_(Q)/ *Harshavardhana
(D) Shahjahan

The regime established by Augustus the first
emperor was called by which name ?

(A) Republic (BT Monarch

(C) Senate (D) Principate

In Windows Internet Explorer, the default
font-size is

(A) 24 (B) 22

(C) 11 712

The highest population of buffalo was
found in

' Bhiwani
(C) Kaithal

(B) Rewari
(D) Panipat

The first element in JavaScript array has its
index value as '

(A) 2 (B) -1

ey 1 g 0

Out of 50 people surveyed who drink atlcast
one of the 2 drinks coffee or tca, 20 people
drink tea, 10 take both tea and coffee. The
number of people who drink coffee only is

(A) 10 30

\(}2{ 20 (D) 40

(e AT

A

19.

20.

21,

22.

23,

24,

25.
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26. First General Election of India held in

(A) 1951-52
(B) 1952-53

7195051

(D) None of the above

Complete the series.

-1,0, 1,8, 27,2
JA) 64 (B) 60
(C). 44 @4

28. Which one of the following constituencies

given below is the largest constituency in

India in terms of electorate as per recent

data of Election Commission of Indig ?
\MLadakh

(B) Chandni Chowk

(C) Malkajgiri

(D) None of the above

',g‘g. If 2%~ 6-2* + 8 =0 then x =

( -1, -2

& 0.1 L

\~
Y 1.2
(D) None of these

30. Which of the following were the Presidency

cities of British India ?

(A) Delhi, Bombay, Madras
(B) Bengal, Delhi, Bombay
(C) Madras, Bengal, Delhi

/QE{) Bombay, Bengal, Madras

31. Complete the series.
8,9,7,8,6,7, %
(A) 12 JB{ 5
C) 9 (D) ©

26.

27.

28.

29.

30.

31.

O 0

ag &7 g99 3 A =8
el

(A) 1951-52

(B) 1952-53

(C) 1950-51

(D) 3% 4 & IS A&l

sre qoi ifer)
-1,0,1,8,27,?
(A) 64
(C) 44

(B) 60
(D) 24
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g 22 _ 6.2+ 8 =0d x =
(A) <1,-3
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33.

35.

36.

37.

38.

Where the ornament purli made of gold

worn by Haryana women ?
(A) Finger (B) Neck

(C) Ears \}D’i Nose

0.5,0.55,0.65,0.8,?
(A) 0.95
({Cy 082

(B) 1
(D) 0.9

Class C network IP addresses range from

\(y/ 192.0.0.0 to 223.255.255.0

(B) 128.255.0.0.t0 192.255.0.255
(C) 128.0.0.0t0 191.255.0.0
(D) 1.0.0.0t0 127.0.0.0

It is the largest freshwater lake in the north-
eastern India. Touted as the only floating
lake in the world due to phumdis floating
over it. As per above statements which one
of the following lakes could be this ?

(A) Dal lake

(B Loktuk lake
(C) Woaular lake
\LD«V None of the above
If EXAMINATION is coded as 125, what
is the code number for HARDWOQORK ?
&) 98 (B) 68
(C) 250 (T 52

In Haryana a branch of Benetton group
which produces shoes, cloths, bags etc. is
located at

(A) Bhiwanmi
(C) Gurugram

(B) Panipat
_WD) Faridabad

What is the name of the India’s First
Research Station located at the International
Arctic Research Base, Norway ?

(X) Sahyadri

(B) Sheshadri

(C) Himadn

(D) None of the above

32.

33.

3.

35,

36.

37.

38.
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TN RS Ei € I g TTeAT 9t 1 @l
TEAd 8 7
(A) Infert (B) e

(D) AT

(C) =hA

0.5, 0.55, 0.65, 0.8, ?
(A) 0.95
©) 0.82

(B) 1
(D) 0.9

F&T C Hedeh [P Ui s 3}

(A) 192.0.0.0 9 223.255.255.0
(B) 128.255.0.0® 192.255.0.255
(C) 128.0.0.0¥ 191.255.0.0

(D) 1.0.0.08 127.0.0.0

I8 I T 9 H AT I e 8 g 3
I S el §¢ IS il aie & farva 1w
A B et o w9 T T ST ) 39 FE %
HFFEN Ffoiaa # 8 9 PH-H 3l B ?

(C) JeR Eet
(D) IFAHF FIE T

afe EXAMINATION &1 %¢ 125 &, @
HARDWORK &1 &2 5841 41 8177 ?

(A) 98 (B) 68

(C) 250 (D) 521

g 4 w4eR TR ) us w2, S
@,T,%aﬁmmﬁw%ﬁ
T

(A) o (B) uritua

(C) TRU™H (D) wgEmEe
AT HThfeeh IFgea™ 39, 974 | WRa
& T Tee SHUH WY H AW R ?
(A) Hasi

(B) STsh

(C) Tewms

(D) 3 U A HIg T
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39. AG:IO::EK:?
(A) SY

yMS

A0. The potential energy of a 100 kg block
10 m along a 30° inclined plane is

B Zero (B) 980
(©)

(B) PV
(D) LR

490 ] (D) 245

41.  Morni and Tipra are the ranges separated by
(A) River Yamuna
River Markanda
(C) River Saraswath
: (p) River Ghaggar

42. The King Harshavardhana wrote a famous
play
Bharatanjali
(B) Narayaneeyam
(C) Nagananda
(D) None of the above

@ In Haryana which city knownas steel
city ?
(A) Ambala
(C) Rohtak (

(B) Rewari
Hisar

44. pH range of boric acid and borax buffer
mixture is

(A) 5.9-80
By 6.8-92
(C) 4.0-6.2
(D) 22-3.8

45. [f HCF and LCM of two numbers are 9 and
360 respectively and if one number is 45
then the other is
(A) 7 72
(C) 36 (D) None of these

39.

40.

41.

42.

43.

45.

D O AR

AG:I0::EK:?
(A) SY
(C) MS

(B) PV
(D) LR

T 30° 99 gedad & 19 10 HX 7% T
100 3 % @ Y gedTey Sl ©

(A) A (B) 9801J
(C) 4901 (D) 2451

BT |

(A) T AT
(B) TEiAThE
(C) a1 anEd
(D) 31 TR

TS gYae A U UG Aresw _ for@n |
(A) SaTSIfet

(B) AT

(C) ATTHE

(D) 3% H 4§ %% T8

BRI | T IR Wi B % w9 § S

HaTe ?
(A) IFaTeT (B) @Te
(C) gdH (D) femm

e Uftrg o sitew T s 1 fra s
RET

(A) 5.9-8.0

(B) 6.8-9.2

(C) 4.0-6.2

(D) 2.2-38

Bl AT

e g TSt 1 qEq 3R 99 99 9 3
360 ® 3 Afe v T 45 2, 1 gud B
(A) 7 (B) 72

(©) 36 (D) 398 | %18 T
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46. Quit India Movement was started 1n
(A) 8™ August 1943
(B) 8" August 1941
& g August 1942

(D) 8" August 1940

47.  The process of identifying and separating
the essential features without including the
internal details is
(A) Inheritance
(B) Encapsulation

) Data Abstraction

(D) Data Hiding

48. A person paysRs. 975 in monthly installments
each installment being less than the former by
Rs. 5. 1f the first installment paid is Rs. 100 then
the tme peniod in which the entire amount
was paid off is

vu\’( 15 months

(C) 14 months

(B) 13.5 months
(D) 10 months

49. A Computer with a large number of

instruction is called as a
(A) CISS ,{B‘%I'SC

(C) RISS (D) RISC

50. The largest number which divides 165 and
225 is ‘
(A) 225 B 15

(D) None of these

\}Y 2475

51. The wages of 8 men and 6 boys amounts
to T 33. If 4 men earn ¥ 4.50 more than
5 boys, determine the wages of each man

and boy.

Ay T2, 25 (B T25.T2

(D) T1533

9/?‘ 3.2 1.5
9.
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46. WA BIE) AT sl TE §AT &A1 7
(A) 8 ST 1943
(B) 8 37 1941
(C) 8 3T 1942
(D) 8 3TTE 1940

47, 3t e ) afmifer forg femm smavgs
ffwaretl 1 o A I ygEEA A

NEDIES
(A) TR
(B) 3TETUftehd T

(C) arfereT TeEu
(D) ST f&ur

48. s Afqq wiftes Rt § . 975
AT 2, Teieh fohtd qd &1 g1 4 &. SH A
Bft| afe veel fRe 1 YA €. 100 foE
m%ﬁq\ﬂv&mwﬁmﬁwﬁﬁ
(A) .15rrsﬁ=n (B) 13.5 w&iT
(C) 14HET (D) 10 ®EHT

49, WS HEATH RS AT FRR T
AT R |
(A) CISS
(C) RISS

(B) CISC
(D) RISC

50, HE T8 o dEa R, ;165 3w 225 F
e W a2 ?

(A) 225
(C) 2475

(B) 15

(D) T & I T

51, 8 Al AR 6 T i weigl) F Her R

'¥33% 138 4 IefiEf ST A T 4,505
FAQ &, T T et 3R wsF i wegh
R |

A) T2,325
). TAX LS

(B) ¥25,32
(D) T15,33
0
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52

33

54.

5.

56.

If one of roots of the cubic equation
4x* +20x-23x + 6 =0 is -6, then the other
2 roots are

1 -1

A
S (R

-1

—

|
™

@ 3
1
= (D)

b | o

©

5 kg of a commodity is purchased at
¥ 100 per kg, 6 kg at T 110 per kg and
9 kg at X 120 per kg. The average price of
the commodity per kg is
(A) T 117 perkg

_B) T112perkg
(C) Y 110 perkg
(D) X 115 perkg

Haryana Legislature has the power to pass
laws which are in the Schedule
of the Constitution.

(A) 6* (B)

(C) 4= T

The soil of the hilly area of Haryana is
(A) Black ) Rocky
(C) Clay (D) Yellow

Find out the wrong term in the given series. |

8, 13, 21, 32, 47, 63, 83
) 47 B) 32

57.

58.

Jﬁ Kurukshetra (D) Ambala
(0

©) 21 (D) 13

An elevator is moving down with a constant

acceleration of 1 ms?. How much lighter

does an 80 kg man feel riding the elevator ?
(A) BON (B) 40N

(C) 60N 20N

The holy city is in the district of
(A) Panchkula (B) Hisar

‘pasinbai ag OspE ¥ :
y suoneayenb a1, 1sod aig) 1) paiinba suo

-10-

b ay) pug Nepipuw {Polasiie e e WitH
SUTOTTANT WARDIE Dawmane pas it

52,

35.
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(€ fosh firgh (D) deh

A FEe e W I
8, 13,21, 32, 42, 63, 83

(A) 47 (B) 3
© 21 O 13
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If ' means ‘+°, ‘+" means ‘-,

lm i
59. ‘x" means
‘2’ ‘<" means ‘x’, which of the fﬂ“k)\\-’iﬂg
is not correct ?
(A) 30+5-4+10x5=33
“(B) 30x5-4+10+5=4]
(C) 30-5+4+10x5=27

(D) 30+5+4-10x5=22

60. Affidavit is mandatory to a candidate
while filing the nomination to the Election
Commussion. Here Affidavit means
(A) Giving the details of campaign

expenditure of candidate
(B) Informing the party details of
candidate
(G4 Giving details of property and criminal
case pending
None of the above

61. Redpced phase rule is, F =
H}KHE—P+] (B) C~<P+3

(C) C-P (D) C=P+2
AR B - _
62. / Choose the missing term out of the given

alternatives.

(D)

bedf7hj2i
(A) j m B 4
(C) mi ((D{/:m

63. Which attribute specifies the distance
between two adjacent cells ?
(A} CELIMERGING
BT CELLSPACING
(C) CELLPADDING
(D) None of the above

The first paper mill in Haryana was
started in
(A) 1959
(C) 1939

(B) 1949
L7 1929

Calendar : Date : : Dictonary : ?
(A) Book (B) Words
(C) Language ¥) Vocuabulary

65.

59,

61.

62.

63.

65.
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aR—wmad w8 w wd o g
WL w W ferferfae § @ A
am JE B 7
(A) 30+5-4410x5=133
(B) 30xS5-441045=4]

(C) 30-5+44+10x5=27

D) 30+45+4-10x5=22

A S G q9iE Aiftae 414wy

Fufigan &1 gAwAn 241 ufyard & | qef

BAFATY F1 H1 YdeAd 2 7

(A) Fvfiean & sfvar sq4 ) faaum 241

(B) 3wfiean & gidf & faaor #1 gfua
FET

(C) Fufa 3 squfts qmai &1 faam
a

(D) IR H A% 7¢

BT g3 wred1 faam F -

(A) C-P+1 (B)y C-P+3

(C) C-P (D) C-P+2

few v faepei 9 @ e vz A |

bedf?hj?]

(A) j m (B) in

(C) mi (D) im

FH-AI T 2 3T e F g

1 e

(A) Temisty

(B) @erafim

(C) aefén

(D) J4a 4 A &8 3¢

eftaron | TEE w1 w1 o v ad g

faa mm a7

(A) 1959 (B) 1949

() 1939 (D) 1929

o p ol fafu . . wrsawm 7

(A) TET® (B) T

(C) W (D) 9182 -vEN
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In Haryana the city of textile, carpets and

66.
blankets is
(A) Aisar (B) Sirsa
) Panipat (D) Surat
67. Secondary colours are
(A) WGB (B) OGV
(C) CYB RGB
68. Which data processing techniques can be

applied to remove the noise and correct
inconsistencies in data ?
(A) Data reduction
(B)~Data transformation
LIJC) Data cleaning
(D) Data integration

69. Which of the following is a rabi crop in
India ?
(A) Rice (B) Jowar

_C) Barley (D) Maize
There are 3 scales of length 65 cm,
85 cm and 95 cm respectively. The length of
the cloth that can be measured exact number
of times using one of these 3 scales is
(A) 21675 _/(); 5
(C) 20995 — (D) 1

71.  The first textile mill in Haryana was
established in the year 1937 at
(A) Gurugram (B) Sirsa

(c hiwani (D) Karnal

If 12" term of an A.P. exceeds the 3™ term
by 36 and 16" term is 64, then the first term
of the A.P. is

(Ayﬂ
(C)4
-
1T 8225 1
(B) 5

(A) 51
/(44 (13 '8

The Administration of small cities is done by
(A) Municipal Corporations

(B) Jagadadri
(¥ Nagarapalikas
X D) \Municipalities

(B) 3
(D) 6
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75. He signed the letter.
(A) noun
(B) adverb
(Y verb
N~

) .
(D) pronoun oL

76. This is the desk which he invariably wrote at.

(A) verb
Ve

ﬂ preposition

(C) linker
(D) helping verb

Direction for question 77 : Each question givesa
word followed by four choices. From the choices
select the most suitable synonym (word which
means the same) for the main word and mark its
corresponding letter as your answer,

FZ. AVARICIOUS
(A) Happy ﬂ/Lazy
(C) Greedy (D) Smart

Identify the grammatically wrong sentence and
mark that option as answer.

78. (A) Every officer and every soldier has to
be ready to sacrifice his/her life for the

country
(B) Either Prathap or Pradecp has done this
mischief
/02’) Each man and each woman have a vote

(D) None of these

I3

79. (A) He is both scholarly and cultured

(By” Scarcely 1 had reached the station when
e the train steamed out

(C) He is not so bad ag you say

(D) No sooner did the tiger appear than he
shot it down

Direction for question 80 : Select the word/group
of words which is most opposue in meaning to the
word/group of words.

80. DIMINISH

Q/QK{ swell up.

(B) augment
(C) lessen
(D) reduce

Direction for question 81 : Read each sentence to
find out whether there is any error in it. The error, if
any, will be in one part of the sentence the option of
that part is the answer.

81. I (1)/have been wondering (2) / whether

you il be (3) / free this evening (4).
3 B) 1

(.2 & D) 4

Fill in the blank from the given choices and mark
that option as the answer.

82. She has a headache but he has got
appendicitis.
(A) the
(B) a
(C) no article
(DY an
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